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KEY FOR CLASS : 07

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

01 Option (C) is the correct answer. It is the plural of ‘opus’.
02 Option (D) is the correct answer. It’s an area outside a building and also a unit of measurement.
03 Option (C) is the correct answer. The correct spelling is : ‘Antarctic’.
07 Option (C) is the correct answer. Slang = Slovenly + Language.
11 Option (D) is the correct answer. The four words are : ester, reset, steer, terse.
12 Option (B) is the correct answer. Mark the spelling, it’s not ‘Spacious’.
14 Option (C) is the correct answer. The six adjectives are : my, wet, crispy, dry, timely and hot. Note : Possesive

adjectives in English (my) refer to the possessor and not to the thing possessed.
23 Option (B) is the correct answer. It is a ‘zero conditional’ (If + simple present, . . . simple present) with the

placement of clauses reversed.
24 Option (C) is the correct answer. The mention ‘this’ relates the action to the present time, so we need to

use a form of present tense, agreeing with the plural subject, ‘many people’.
29 Option (B) is the correct answer, because the first syllables of ‘heir’ and ‘MLA’, both produce a vowel sound

as in ‘air’ and ‘aim’ respectively.
31 Option (B) is the correct answer. It is the only one that can be a noun too.
32 Option (C) is the correct answer. The first pair ‘Track’ and ‘Path’, are synonyms, and so ‘Mould’ a synonym

of ‘Fungus’ for the second pair.
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